INSTRUCTIONS BOOK
Vulcano 7T E/E Closed

Cooker

LACUNZA



LACUNZA congratulates you on your excellent choice.

Certified under the European standard mandatory ISO 9001, LACUNZA guarantees
the quality of its machines and is committed to satisfy the clients’ needs.
Confident of its experience, LACUNZA makes use of advanced technology in design and
manufacture in all its range of heaters. This document will help you install and use your
cooker, under the best conditions, for your comfort and safety.

CONTENTS

1.- Presentation of the appliance Page 2
1.1.- PACKAZING ...cuuerruercrcercsnrsssnnnssnnissnsisssssossssssssssssnsssnssssssssssassssasses Page 2
1.2.- General characteristics ......ccccerveressncssnncscnnicsaeessnsssnssssnsesnssens Page 2
1.3.- Description Page 3
1.4.- Operation Page 3

2.- Instructions for the installer Page 4
2.1.- User notice ...... Page 4
2.2.- Site for inStallation ........ccccceeeeescnrcssencsnnsssnncsnssnsessnsssssssesenses Page 4
2.3.- SINOKE VENL...uueiirrrricsncssarescnrisssrssnsrssssssssssssnsessssssssssssnssssasssssnsone Page 5
2.4.- Assembly of the gas flue Page 5
2.5.- Connection to the chimney........cccceevvercsrnnssnrcscarssnrossnsesssssssnees Page 5
2.6.- Checks prior to start-up.......cceeevveeienermmcnnninnnsssnesssssssssssonss Page 5

3.- DIrections fOr USE .......ccceceeesvercssanssssrcscnsessanessssssssassssssssnsssssssossassssassssassses Page 6
R B T Page 6
3.2.- Lighting your cooker Page 6
3.30- OPEration ...cccececueicsneessercsssnessssosnsesssssssssssssssssssssonsessasssssasssssses Page 8
R T L1 =) O 11 T N Page 8
3.5.- Ash removal Page 8
3.6.- Characteristics of the hob......... Page 8
3.7.- Characteristics of the 0VeN.........ccoveiervercscnrcscnecssersssnrsssansssanssenes Page 9
3.8.- Lower drawers Page 9
3.9.- Height adjustment (legs) Page 9
3.10.- Insulation side MOAUIES .......cccoceerrerersnrcssnrcscaecsnsessrsrssonsessanes Page 10
3.11.- Drawer MOdUles ......ccoceercurensnrcssnnssnsssnsncsssssssssssssssssssssensasens Page 10
3.12.- Cooker maintenance Page 10
3.13.- Maintenance of the chimney and sweeping ..........ccceeeeeueeeee. Page 11
3.14.- IMpPOrtant AdVICE ......cceveeercurissrecssercsarssesscsnsessssssssssssssssensasens Page 11
3.15.- Troubleshooting Page 12

4.- Vulcano drawer MOAUIES ......c.ccceeeerercneicssnnssnnrosssnessncssnsessasssssssssssssensese Page 13
4.1.- PACKAZING ..ceervrrirsnissnninssnncssnressanssssssssnsssssssssnssssssssssssssassssnssses Page 13
4.2.- General dimensions Page 13
T T D Tl 1 0 1 11) 1 N Page 13
4.4.- CharacteriStiCS.... .. oienuiinsrercssercssarcssancscnsessassssssossassssassesonsosens Page 13
4.5.- Instructions for the installer Page 14

5.- Instructions to fix together the cooker, the insulation side model and Page 16

drawer module

6.- Exploded diagram.........ccoceierveresssnicscnrisssrsssssessnssssssosssssssssssssnssssssssssassssnss Page 17




This appliance is designed to burn wood and solid fuel in absolutely safe conditions
WARNING
A faulty installation can have serious consequences which may lead to injuries or death.
We recommend that the installation and all maintenance work are carried out only by a
qualified, registered heating engineer

1.- PRESENTATION OF THE APPLIANCE

1.1. Packaging

1.2. General characteristics

Reference Unit Vulcano7 T Vulcano7 T
E/E E/E
WOOD COAL
! ll# $ " %
& = ( D) * 0 * 0
+ 1T . | " *
- D) . "/
- D 0+ *#% *
1 * *
2 . * 0 * /%
Dimensions of the firebox
*3/ *3/
4 % % % %
5 79 79
4 . 6
7 #%) i 8 8 *kk **%k*
Useful dimensions of the oven
#* #*
# #
4 #, #,
+ ’ 7
9 % %
Note: : ) 2: 2 D 6 *" %)
, *1
(*) Maximum power: ; ( :
2 2 - < <



r@lsc:ninr
= ===
8 D
Eﬂ ,-r;iﬁi“q 4 L
] II | le
I 2
- o, E
817 _ 283
| 135 |, : $ 3
9 %
-
N | -
i \/ J
L
ofl /! / o
200
Figure No.1 =4 7 /. o+
1.3. Description o
62 5 6 * 0 2
e > < e A
. 2
e 9 7) D)
e + <) ) 2
2 1) 2
)]
. )] 2)
1.4. Operation
° D ( 2
° 6 0 2 <
° 2 )
2
o B @ 2
. 2 6 2 )]
e
2 2 ) b2



2.- INSTRUCTIONS FOR THE INSTALLER

2.1. User notice

; 2
2
’ < < A
2
C D
9 p p 7
: D C
2
2.2. Site for installation: Figure 26 ~
2 2
Ventilation:
> < 4 4 4
5 D
7 / * * *
; ) 2 E 2
E D =7+
- 7 +
D >
< <
3 * D
Hearth:
- 2
D) > <) g
2
) 2 6
2 2 : 6 2 2
* E
Figure 3- ~
b2 ? 2 2 ))
i 2 4 4 4
2 0 3
’ 4
2 @ 7 / *




2.3. Smoke vent:

2
D
Flue:
2
2 )
2 + >
2 )
2
2 6
2
# 2
2 )
2 "
2
* 1 E
6
) 2
2
D 2
%
2 . 2
2
; )
2 D)

2.4 Assembly of the gas flue:

%

2.5 Connection to the chimney

%

-

2.6 Checks prior to start-up

+

-



3.- DIRECTIONS FOR USE

2 )
; 2 1 F—
2 G
5 ) ) ) 3.2. Lighting your cooker
< 1 D
2 o + F+6 2
> )]
( )] ¢ 2 e 1 F G
)]
6 e H FOG
> )]
[ ]
)] .
3.1. Fuel .
e 5 $1 <
D <
<:Z
e 5 > )
2
e A 2 2
2 2
e 9 6 D
<2 2 E
Optimum fuels recommended
) 2
Other recommended fuels
o + < < <2 <«
Non-permitted fuels? .
o 1 E
e - D> G - )
2 6
p <2
o F : ) G 2
)] )] ¢
< ) < 22 <«
< E 2
2 6 <
<
2 (
o 1 D




F-G

9 o*
1 anaon I olacad
|— !
A:9 2 ( E:1 6
B: : E1l: E2:
C: 4 F: H 6
C1: C2: F1: F2:
D: : G:9
Figure 6
Warning: 4
( < <
2
)
)
K )




3.3. Operation:

) 2
h) 2 ( 3 )
)]
+<9 $
+ 2
9 3.6. Characteristics of the hob.
9 $ ( D 2
2 2
) )
) ! 2 2 : 2 (
217 |z
[ 5]
E% | ¢
sl S 9
5 | 5| &8 = ,
: £ € |3 of )
& |Bl& | &
" (
Cooking:
- + |+ + \
(] ©
Bakin ® \\ e
= + + ? \
+
L Figure 7
+L
"L ( Flue socket
2 The simple gas

3.4. Fuel load.

<) D) 2

flue socket is fitted on the back (without
flapper valve, dismantling the flapper valve
and filling the holes with the pair of nuts and

( ) bolts supplied with the appliance) and the gas

* flue socket with flapper valve, )

2 : D fitted on the top of the cooker. The unused
2 ) $ 2 flue socket must be covered with the “Flue

9 2 < socket cover” (see Figure 7).

).
)
Left6 - < Right6
3.5. Ash removal.



e

Figure 865 Figure 10

3.7. Characteristics of the oven. 3.8. Lower drawers.
: h) ) 2
2 2
: D )
2

3.9. Height adjustment (legs).

"% <2 #

[LEGS ADJUSTEMENT

Figure 11 - Legs adjustment



3.10. Insulation side modules

2 d
2
< 2 <)
2
d (
R *

Figure 12- Insulation module

3.11. Drawer modules

d d
2

Figure 13 - Drawer module 4

3.12. Cooker maintenance.

2 D
)
3.12.1. Structure:
2
2
2
2
2
D 2 = :
+ )
2
; ) E
) )
6
1
g < <
3.12.2. Hob:

Enamelled cast-iron top surface

Enamelled area
o + D) 4

2 1« 1< 62

62
> )
<
2 B ) <«
2

Polished cast iron
e 5

10



3.12.3. Firebox:
° B

2 ( ) i

=Z DN/

3.12.4. Inside the cooker:
[ ]

6 <

K

2)
6

3.12.5. Gas flue socket:

Figure 157 ) (

3.13. Maintenance of the chimney and
sweeping

IMPORTANT: )
<
)]
> E )
)] )]
> < 2 )
> <
2 ( DI
2 + 9
: 333
4
2 2

3.14. Important advice:
A ]
2
A ] 2

) 2

@ This cooker may remain HOT for a period of time after
it has gone out. MAKE SURE THAT SMALL CHILDREN
DO NOT GO NEARIT.

11



3.15. Troubleshooting:

This sign recommends a qualified
professional to perform this operation

Problem

Possible cause

Action

The fire does not burn well
The fire does not last

Green or wet wood

Use hard wood, with at least 2 years of cut and
stored in a ventilated and sheltered place.

Logs are too big

To light the cooker use newspaper and kindling
wood or firelighters. Once established, used
smaller logs of a similar size.

Bad quality wood

Use hard wood that produces heat and embers
(chestnut, ash, maple, birch, elm, beech, oak,
etc.)

Direct draught rod

Check that the direct draught rod is open

Not enough primary air

Open the primary air control completely, or even
open the door a little bit.

Not enough draft

Check the flue is not blocked. Remove any soot
from the flue air ways.
Check the flue outlet has not become damaged

The fire has too much flame

Excess of primary air

Close all or part of the primary air inlet and the
draught check valve.

Excessive draft

Install a draft regulator

Expulsion of smoke into room

Bad quality wood Do not burn continuously, chips, carpentry
remnants (plywood, pallets, etc.)
Cold flue Reheat the flue as quickly as possible using

newspaper and kindling to instant heat

Smoke entering room during
burning

The room is depressed

In facilities equipped with VMC, half open a
window until the fire is well lit.

Not enough draft Check the status of the duct vent and isolation
duct.
Verify that this is not obstructed; make a
mechanical cleaning if necessary.

Downdraft Install an anti-down draft cowl to the top of the

chimney rendering at the top of the chimney

Insufficient Heat Output

The room is in depression

In rooms equipped with VMG, it is necessary to
have an air intake from outside

Bad quality wood

Only use recommended fuel

Bad convection air combination

Check the convection circuit (air input grids,
spreading grid) Verify that the adjoining rooms
are equipped with ventilation grids to enhance
hot air spreading.

Water condenses (after the
cooker has been lit more than 3
or 4 times)

Green or wet wood

Use hard wood, with at least 2 years of cut and
stored in a ventilated and sheltered place.

Not enough draft

Check the condition of the flue and insulation.
Check that the piping is not blocked. Clean
mechanically if necessary

12



4.- VULCANO DRAWER MODULES (OPTIONAL)

4.1. Packaging
d

4.2. General dimensions

" 45A . " 45A #

640
570

810

810

6 08 2 < 6 08 2 <
9 , =4 7 9 #64 7 )}
) % - $
4.3. Description 4.4. Characteristics
4 ) # 6#6 ) J
7 6H 6 )
6H
- P2
6+ 6

69 <



4.5. Instructions for the installer

4.5.1 Assembly Instructions.

1 WARNING! D ) 49 2 > )
) 2 D) H D
THE MODULE ) : )

MAY OVERTURN  "$) 4 2

2 : ) 2

14



"8G
(

=S
h)

15



5.- INSTRUCTIONS TO FIX TOGETHER THE COOKER, THE
INSULATION SIDE MODEL AND THE DRAWERS MODULE

Detail?

2- Recommended minimum distance
to NON-combustible material >3 cm

2 (

6* 9

2 2 D

2 2« 2
) 2 C,
6,9 < f

: 2)

N,

b# D < D

) 4 N, VERY
IMPORTANT: THE TOP SURFACE MUST BE

NON-COMBUSTIBLE

3- Distance > 3mm 4- Distance >3mm

16



6.-EXPLODED DIAGRAM

VULCANO 7T E-E GENERAL EXPLODED DIAGRAM

17



A-VULCANO 7T E-E COOKER FRAME SUB COMPONENTS
EXPLODED DIAGRAM




C-VULCANO 7T E-E OVEN DOOR SUB COMPONENTS EXPLODED DIAGRAM

D-VULCANO 7T E-E FLUE SPIGOT SUB COMPONENTS
EXPLODED DIAGRAM

19



E- VULCANO 7T E-E CAST IRON TOP FOR TOP FLUE CONNECTION
SUB COMPONENTSEXPLODED DIAGRAM

F-VULCANO 7T E-E INSULATED COVER FOR TOP FLUE OUTLET
SUB COMPONENTSEXPLODED DIAGRAM

20



G-VULCANO 7T E-E LEFT HAND SIDE DRAWER SUB COMPONENTS
EXPLODED DIAGRAM

o \h

H-VULCANO 7T E-E UNDERNEATH OVEN DRAWER SUB COMPONENTS
EXPLODED DIAGRAM

21



VULCANO 7T E-E EXPLODED DIAGRAM

VULCANO 7T E-E GENERAL EXPLODED

NUMERO | N° Plano DENOMINACION CANTIDAD | UNIDADES

A Vulcano 7T E-E Cooker frame assembly 1 Unid.
Vulcano 7T E-E Firebox door assembly 1 Unid.

C Vulcano 7T E-E oven door assembly 1 Unid.
D Vulcano 7T E-E Flue spigot with control flap assembly 1 Unid.
E Vulcano 7T E-E cast iron hob for top flue outlet assembly 1 Unid.
F Vulcano 7T E-E insulated cover for top flue outlet assembly 1 Unid.
G Vulcano 7T E-E underneath firebox drawer assembly 1 Unid.
H Vulcano 7T E-E underneath oven drawer assembly 1 Unid.
| Vulcano 7T E-E ashpan 1 Unid.
J Scraper 1 Unid.
K Hook 1 Unid.
L Angle scraper 1 Unid.
LL Oven rack 1 Unid.
M Oven tray 1 Unid.

A- VULCANO 7T E-E COOKER FRAME SUB COMPONENTS EXPLODED DIAGRAM

52 VU-461 | Vulcano N°4-5-7-8 RH double side panel 2 Unid.
53 VU-361 | Vulcano RH side Isolation double panel 2 Unid.
54 Vulcano R.H. Lateral 1 Unid.
55 Vulcano L.H. Latera 1 Unid.
56 Vulcano N°5-7-8 Lateral firebrick 5 Unid.
57 Vulcano R.H. firebrick lat. angle 1 Unid.
58 Vulcano N°5-7 S/sup R.H. firebrick lat. angle 1 Unid.
59 Vulcano N°7 back part 1 Unid.
60 Vulcano N°5-7 S/Sup top direct inter. piece 1 Unid.
61 Vulcano N°7 S/sup firebrick back angle 1 Unid.
62 Vulcano N°5-7 S/Sup top direct lid 1 Unid.
63 Vulcano N°5-7 S/Sup top direct lock 1 Unid.
64 Vulcano N°5-7 S/Sup top direct drawer down lid 1 Unid.
65 Vulcano N°5-7 S/Sup top direct drawer 1 Unid.
66 Vulcano flue socket 1 Unid.
67 Vulcano leg 4 Unid.
68 | CS-035 | Clasica N°7-8 Joint bolt 2 Unid.
69 Vulcano N°5-7 S/sup direct flap 1 Unid.
70 Vulcano N°7-8 little door 1 Unid.
4 Vulcano Sujeccion Fleje 2 Unid.
2 Vulcano N°5-7-8 R.H. funnel 1 Unid.
3 Vulcano N°8 grate 3 Unid.
5 Vulcano N°4-7-8 lateral protection 1 Unid.
76 Vulcano top direct 1 Unid.
7 NN-A94 | |is n°5-7T top direct draft control rod 1 Unid.
8 Vulcano N°5-7-8 L.H. funnel 1 Unid.
9 VU-615 | Vulcano N°5 Stainless steel oven 1 Unid.
81 Vulcano N°7 cast iron front 1 Unid.

22



82

Vulcano N°5-7 Oven blind drawer 1 Unid.
83 Vulcano N°4-7-8 fireplace blind drawer 1 Unid.
84 Vulcano N°4-7-8 Lateral 1 Unid.
85 Vulcano N°8 grate holder 1 Unid.
86 Vulcano N°7 front protection 1 Unid.
87 Vulcano lateral insulating holder 2 Unid.

B- VULCANO 7T E-E FIREBOX DOOR SUBCOMPONENTS EXPLODED DIAGRAM

26 VU-734 | vulcano 7 E3 External firebox door 1 Unid.
27 VU-736 | Vulcano N°7 E3-E5 Internal firebox door 1 Unid.
28 VU-725 | Vulcano 7E5 Firebox lower grate 1 Unid.
29 VU-635 | Vulcano N°7 E-E5 Secondary air grate 1 Unid.
30 VU-738 | Vulcano N°7 E-E5 Primary to secondary air partition plate 1 Unid.
31 LV-015 | Levante Firebox door glass fixing bracket 2 Unid.
32 VU-630 | Vulcano N° 7 E-E5 Primary air inlet plate 1 Unid.
33 VU-287 | Vulcano ZN black doublé bolt 1 Unid.
34 VU-231 | Vulcano 8 Firebox door internal glass 1 Unid.
35 VU-126 | vulcano 8 Firebox door external glass 1 Unid.
36 VU-094 | Vulcano N°4-5-7-8 Thermostat control knob 1 Unid.
37 VU-289 | Vulcano N°4-8 Complete thermostat 1 Unid.
38 VU-056 | vulcano 4-5-7-8 LH side handlle bracket 1 Unid.
39 VU-057 | vulcano 4-5-7-8 RH side handle bracket 1 Unid.
40 VU-091 | Vulcano N°4-7-8 Door/Drawer handle 1 Unid.
41 VU-233 | Vulcano N°4-8 Firebox glass Lower fixing plate 1 Unid.
42 VU-327 | Vulcano N°4-7-8 Firebox glass upper fixing plate 1 Unid.
43 IN-011 | |N-700 Secondary air control knob 1 Unid.
C-VULCANO 7T E-E OVEN DOOR SUB COMPONENTS EXPLODED DIAGRAM

44 VU-011 | Vulcano N°5-7 External oven door 1 Unid.
45 VU-021 | Vulcano N°5-7 Internal oven door 1 Unid.
46 VU-124 | Vulcano N°5 L-100 Oven door crystal 1 Unid.
47 VU-259 | Vulcano 400°C (F.Black) Oven thermometer 1 Unid.
48 VU-139 | Vulcano Ovensupport draft plate 1 Unid.
49 VU-140 | Vulcano Oven draft plate 1 Unid.
50 CS-024 | Clasica Oven draft plate control rod 1 Unid.
51 D 9 mm black fiberglass gasket m 2.4

52 VU-083 | Vulcano N°5-7 Drawer/oven door handle 1 Unid.
38 VU-056 | Vulcano N° 4-5-7-8 LH side bracket 1 Unid.
39 VU-057 | Vulcano N° 4-5-7-8 RH side bracket 1 Unid.
53 M10X10 SS screw 2 Unid.
54 DIN912 M6X10 screw 2 Unid.
55 DIN7991 M6X14 screw 6 Unid.
56 VU-131 | Vulcano Zn. black/ L-3800 Oven door fixing pin 1 Unid.

23



D- VULCANO 7T E-E FLUE SPIGOT SUB COMPONENTS EXPLODED DIAGRAM

57 VU-432 | Vulcano Flue collar 1 Unid.
58 VU-407 | Vulcano Flue collar reducing plate 1 Unid.
59 VU-408 | Vulcano N°5-7 Flue collar reducing plate fixing rod 1 Unid.
60 VU-409 | Vulcano Flue control knob 1 Unid.
61 VU-455 | Vulcano Flue collar plate spring 1 Unid.
62 M5x20 DIN933 M5X20 bolt 2 Unid.
63 M5 DIN934 M5 Nut 1 Unid.
64 M8 DIN934 M8 Nut 1 Unid.

E- VULCANO 7T E-E CAST IRON TOP FOR TOP FLUE CONNECTION SUB COMPONENTS

EXPLODED DIAGRAM
65 VU-390 | Vulcano N°7 Top flue outlet Cl top 1 Unid.
66 VU-411 | Vulcano N°7 Cooking hob 1 Unid.
67 VU-413 | Vulcano Cleaning access plate 1 Unid.
68 VU-519 | Insolated cover 2 Unid.
69 VU-410 | Vulcano screw enamelled cover 6 Unid.
70 VU-562 | Vulcano n°5-7 Top fixing screw 2 Unid.

F-VULCANO 7T E-E INSULATED COVER FOR TOP FLUE OUTLET SUB COMPONENTS

EXPLODED DIAGRAM

71 VU-499 | Vulcano 7 E Inslated cover outside panel 1 Unid.
72 VU-510| Vulcano N°7 insolated cover frame 1 Unid.
73 Novatek nut GSK 7X15 8 Unid.
74 DIN912 Screw M6X10 4 Unid.
75 Stainless steel Gasket D 10 15 m

76 VU-526 | Vulcano N°5-7 Chrome spring handle 1 Unid.
77 VU-491 | Vulcano N°5-7 Handle fixing nut 2 Unid.
78 VU-470 | Vulcano N°5-7 handle fixing rod 1 Unid.
79 VU-528 | Vulcano N°7 Insolated cover inner panel 1 Unid.
80 DIN7991 M5x20 SS allen screw 1 Unid.
81 VU-469 | Vulcano N°5-7 Tie nut casq 2 Unid.
82 VU-468 | Vulcano N°5-7 Cover fixation bracket 2 Unid.
83 VU-531 | Vulcano N°5-7 Bracket rod 2 Unid.
84 M5x10 DIN913 Pin 5X10 2 Unid.

G-VULCANO 7T E-E LEFT HAND SIDE DRAWER SUB COMPONENTS

EXPLODED DIAGRAM
85 VU-244 | Vulcano N°4-7-8 Drawer body 1 Unid.
86 VU-030| Vulcano N°4-7-8 Cast iron drawer front 1 Unid.
87 CE-046 | Century Set of drawer guides 2 Unid.
88 VU-265 | Vulcano LHS inner drawer panel 2 Unid.

24



89 VU-266 | Vulcano N°4-7-8 Front inner drawer panel 2 Unid.
90 VU-269 | Vulcano N°4-7-8 Base inner drawer panel 1 Unid.
91 | VU-055| Vulcano N°4-5-7-8 LHS handle bracket 1 Unid.
92 | VU-054 | Vulcano 4-5-7-8 RHS handle bracket 1 Unid.
40 VU-091 | Vulcano N°4-7-8 Drawer/ Firebox handle 1 Unid.
H-VULCANO 7T E-E UNDERNEATH OVEN DRAWER SUB COMPONENTS
EXPLODED DIAGRAM
93 VU-014 | Vulcano N°5-7 Cajon Horno  Cast iron drawer front 1 Unid.
94 VU-246 | Vulcano N°5-7 Subconj.Cajon Bajo Horno Drawer body 1 Unid.
88 VU-265 | Vulcano Rev.lzdo-Dcho.Caj.Horno-Hogar LHS inner drawer panel 2 Unid.
95 VU-271 | Vulcano N°5-7 Revest.Del-Tras.Caj.Horno Front inner drawer panel 2 Unid.
96 VU-272 | Vulcano N°5-7 Revest.Inferior Caj.Horno Base inner drawer panel 1 Unid.
91 VU-055 | Vulcano N°4-5-7-8 Sop.Cajon Izdo. LHS handle bracket 1 Unid.
92 | VU-054 | Vulcano 4-5-7-8 Sop. Cajoén Dcho  RHS handle bracket 1 Unid.
52 VU-083 | Vulcano N°5-7 Manilla Pta.Cajon/Horno Drawer/ Firebox handle 1 Unid.
87 CE-046 | Century Conjunto Guia Cajon set of drawer guides 2 Unid.

A;+5 0; M;A

1 >

H1;>

PP3#" %$ ,%
9 ( PP3#"%$ ,% %

6= ?

Q

51<H ; A

>

2H 7)) J

J LACUNZA

25



